AP Physics - Coulomb's Law - 2
Coulomb 
[C]  ( unit for charge 

symbol --   Q   sometimes    q  


1 C  =  charge on 6.25 x 10 18 electrons.

charge of one electron =1.60 x 10-19 C.  

· How many electrons would have a charge of 211 
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Coulomb's Law:
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  (  Coulomb’s Constant
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· Two point charges are 5.0 m apart.  If the charges are 0.020 C and 0.030 C, what is the force between them and is it attractive or repulsive?
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· A force of 1.6 x 10-3 N exists between 2 charges, 1.3 (C and 3.5(C.  How far apart are they?
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Electric Force and Gravity:  
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· big difference  -  gravity always attractive. 

· Gravity much weaker 

difference in proportionality constants.  
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differ by a factor of 1020
compare forces in  hydrogen atom - proton and electron.  

Electron/proton charge = -1.60 x 10-19 C

distance -- 5.3 x 10-11 m      ( reasonable figure)
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Force of gravity:   
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Gravity is much weaker

Electric force is 2.2 x 1039 times bigger

Superposition Principle:

Resultant force on a charge is vector sum of  forces exerted on it by other charges.
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Net force on q3 is F23 + F13
Find magnitude of the 2 forces:
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EMBED Equation.DSMT4[image: image25.wmf](
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Add vectors in x and y direction:
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Resultant force:
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Angle of the thing:
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